Cecil Andrews College



YEAR NINE 2025 25 F74 09 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Sunday 29th December 2024 Using "YJ7P" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$5.00, if placed on or before the return date of Friday 13th December 2024.

Orders placed after the return date will incur a late fee of up to \$10.00. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 help@campion.com.au

Office Use	Description	ltem No.	Item Regd	Qty Board	Unit Price \$	Total Amount \$
Onice Use	YEAR NINE	NO.	Requ	Requ	FIICE Ø	Amount
	PERSONAL ITEMS FOR STUDENT USE					
P55285	Calculator HP Scientific HP-10s	1		1	25.95	25.95
P55517	Eraser Plastic Pencil Large Vinyl - Faber	2		2	0.72	1.44
P50130	Glue Stick 40gm UHU	3		3	2.72	8.16
P52523	Highlighters Pkt 4 Assorted Maped (with blue)	4		1	4.60	4.60
P50113	Markers Faber Project Wallet 12 Assorted	5		1	2.88	2.88
P56094	Pen Ballpoint Cap Type Black Medium	6		5	0.28	1.40
P56095	Pen Ballpoint Cap Type Blue Medium	7		5	0.28	1.40
P56096	Pen Ballpoint Cap Type Red Medium	8		5	0.28	1.40
P50271	Pencil (HB) Goldfaber	9		10	0.52	5.20
P56215	Pencil Case 340x170mm Tartan Jumbo	10		1	2.68	2.68
P50341	Pencils-Coloured 24's Faber Classic Colour	11		1	10.36	10.36
P56353	Protractor 10 cm 180 4" Half Circle	12		1	0.36	0.36
P56414	Ruler 300mm Plastic Clear	13		1	0.60	0.60
P56428	Safety Glasses Clear Wrap Around	14		1	5.16	5.16
P52568	Sharpener Pencil Barrel Double Hole Igloo	15		1	1.64	1.64
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	16		1	11.24	11.24
P52375	Whiteboard Magnetic 25cm x 30cm Teachables	17		1	13.56	13.56
P52414	Whiteboard Magnetic Mini Eraser Quartet	18		1	1.64	1.64
P52498	Whiteboard Markers Bullet Fine Wallet 4 Assorted Faber	19		1	10.88	10.88
	RIGHT or LEFT Handed Scissors		<u>Choose One</u>			
P50161	Scissors 170mm Maped Plastic Handle - OR -	20		1	1.84	1.84
P52399	Scissors 165mm Left Handed Green	21		1	2.16	2.16
	CAREER & PATHWAYS					
P55451	Display Book A4 20 Pocket Insert Cover Refillable Black	22		1	3.96	3.96
P55571	Exercise Book 225x175mm 96 Page 8mm	23		4	0.96	3.84
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	23		4	11.24	11.24
02000	USD FOCKET HASH DIVE 32GD - NO TE FOTTIS	24		I	11.24	11.24
	DESIGN TECHNOLOGY - METAL & WOODWORK					
P50510	Display Book A4 20 Pocket Mid Blue Refillable	25		1	1.72	1.72
	DIGITAL TECHNOLOGIES & STEAM					
P55684	Headset Multimedia With M/phone & Volume USB Connect	26		1	33.56	33.56
	ENGLISH					

ENGLISH EXTENSION 9.1

No specific requirements.

FASHION & DESIGN

No specific requirements.

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	GENERAL ARTS					
P55162	Binder A3 3D Ring 38mm PVC Blue	27		1	20.76	20.76
P51580	Display Book A3 10 Pocket Flic File Insert Cover	28		1	9.40	9.40
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	29		1	1.84	1.84
P65021	Document Wallet FC Polydoc Clear	30		1	2.00	2.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	31		1	1.32	1.32
P60008	Pencil Lumograph Sketching Set of 6	32		1	16.44	16.44
	HOME ECONOMICS					
	Students are requested to have containers to store cooked food in pr	actical lessons.				
P50510	Display Book A4 20 Pocket Mid Blue Refillable	33		1	1.72	1.72
	HASS					
P55490	Document Wallet FC Polydoc Yellow	34		1	2.00	2.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	35		1	1.32	1.32
	JEWELLERY					
	No specific requirements.					
	MATHEMATICS					
P55571	Exercise Book 225x175mm 96 Page 8mm	36		1	0.96	0.96
	MEDIA ARTS					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	37		1	1.84	1.84
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	38		1	11.24	11.24
	OUTDOOR EDUCATION					
	Personal items required for this subject include: sleeping bag, walkin	a shoes comfort	ahle walking	clothes the	mals (colo	lcamn
	weather), wet weather jacket/poncho and pants, head torch, snorkel sleeve rashie, bike helmet and water bottle.					
	PHYSICAL EDUCATION					
	Students are required to have the school's sports uniform for this sub	ject.				
	SCIENCE	_	_	-		
P51006	Document Envelope A4 PP With Press Stud Blue	39		2	1.00	2.00
P51616	Exercise Book A4 96 Page 8mm PP Cover with Margin Spirax	40		4	2.08	8.32
	SCIENCE EXTENSION 9.1					
P51006	Document Envelope A4 PP With Press Stud Blue	41		2	1.00	2.00
P51616	Exercise Book A4 96 Page 8mm PP Cover with Margin Spirax	42		4	2.08	8.32

	SPECIALIST ARTS				
P55162	Binder A3 3D Ring 38mm PVC Blue	43	1	20.76	20.76
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	44	1	1.84	1.84
P65021	Document Wallet FC Polydoc Clear	45	1	2.00	2.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	46	1	1.32	1.32

ADDITIONAL NOTES

If you have selected a subject that does not appear in this list, there are no specific requirements outside of the "PERSONAL ITEMS FOR STUDENT USE" items.

Please tick the items required in the box provided $~\downarrow~$							
Office Use	Description		ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
		Number of Boxes ticked:					
		Postage (Home delivery only)		\$5.00			
		ESTIMATED AMOUNT DUE (PRICES CORRECT AT 21/11/24)		\$	_		